d2|ALIE 254, DIN 71412

=5 4Y/HIE o[0ix|

Q;/ ﬂg
) %%&,
= XHE:
& - AR = AHIQIHA AR 1.4305.
&= g
ek - (g EHOp2a; _
- R L AEl A3l 2|, 2|4 550 HV 1, Otd £2
. N AHQIEA AR X}oiX OFR 2.
HH.
HEY O2lA L Eos HF(HET) LIAZE JI&LICH At 2Estof
St 28 22of MEELc ohSXo 2 AL8357|0of 2Etstod 7+&
el A8 ElE a2lA LIE fREYLICH
=M
® © © A ®
o 50
2
~A %
_ [ o
‘ W sw 5 r
& | | |')f | XS i g
5 ‘ a i 14 har| ! =
L l L) T
D D 2 D E D D
Z= Q0o
FEHS ELQ] EE =TT 2l R & A D L L1 SwW
K1132.1106100 A S7Ho| /e AuE AEl - M6X1 - 6 7
K1132.1108100 A Szto| UE BuE AEl - M8X1 - 6 9
K1132.1108125 A gZto| e MY AE - M8X125 - 6 9
K1132.1110100 A S7to| UE HuE AE - M10X1 - 6 11
K1132.1110150 A SZto| UE HuE AE - M10X1,5 - 6 11
K1132.1118 A gZto| e AMY AEl - R1/8 - 6 11
K1132.1114 A £210| e EMY AE - R1/4 - 6 14
K1132.2106100 A SZto| UE BuE AE[QIBA AE - M6X1 - 6 7
K1132.2108100 A gZto| e MY AE|QIBA AE - M8X1 - 6 9
K1132.2108125 A £70| U= EMY AHQIFA AL - M8X1,25 - 6 9
K1132.2110100 A SZto| UE HuE AHQIP A AL - M10X1 - 6 11
K1132.2110150 A gzto| ol MY AE|QIBA AE - M10X1,5 - 6 11
K1132.2118 A £20| U= EMY AHQIPA AL - R1/8 - 6 11
K1132.2114 A Szto| UE HuE AE[QBA AE - R1/4 - 6 14
K1132.1206100 B SZHHE 45° H2H AE 10,5 M6X1 - 55 9
K1132.1208100 B SZHH8 45° H2E A8 10,5 M8X1 - 55 9
K1132.1208125 B SZHHIS 45° U2 AE 10,5 M8X125 - 55 9
K1132.1210100 B SZHHHE 45° A2H AEl 11,5 M10X1 - 55 11
K1132.1210150 B SZHH8 45° H2E A8 11,5 M10X1,5 - 55 11
K1132.1218 B SZHHIS 45° U2 AE 11,5 R1/8 - 55 11
K1132.1214 B SZHIS 45° A2 AEl 12 R1/4 55 14
K1132.2206100 B SZHI S 45° A2 AHQIP A AR 10,5 M6X1 55 9
K1132.2208100 B SZHHE 45° H2'H AE|QIBA AE 10,5 M8X1 55 9
K1132.2208125 B SZHIS 45° H2H AE|QIBA AE 10,5 M8X1,25 55 9
K1132.2210100 B SZHH8 45° H2H AHQIPA AL 11,5 M10X1 55 11
K1132.2210150 B SZHHE 45° H2H AE|QIBA AE 11,5 M10X1,5 55 11
K1132.2218 B SZHHHE 45° A2H AE|QIBA AE 11,5 R1/8 55 11
K1132.2214 B SZtHIS 45° H=H AE[QIBA AE 12 R1/4 55 14
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
d2|ALIE |8, DIN71412
EZS 29
FEHS ELQ] EEETT 2l " & A D L L1 SwW
K1132.1306100 C SZHI2 90° H=H AE] 13 M6X1 - 55 9
K1132.1308100 c SZtHIE 90° A=2H AE 13 M8X1 - 55 9
K1132.1308125 C SZHHIE 90° A=H AEl 12 M8X1,25 - 55 9
K1132.1310100 C SZtHIE 90° A2 AES 14 M10X1 - 55 11
K1132.1310150 c SZtHIE 90° A=Y AE 14 M10X1,5 - 55 11
K1132.1318 C SZHIE 90° A=Y AE] 14 R1/8 - 55 11
K1132.1314 Cc SZtHIE 90° A2 AES 14 R1/4 - 6 14
K1132.2306100 C SZtHE 90° A=2H AHQIPA AL 13 M6X1 - 55 9
K1132.2308100 C SZHh8 90° H=2H AHQIPA AL 13 M8X1 - 55 9
K1132.2308125 C SZtHE 90° A2 AHQIFA AL 13 M8X1,25 - 55 9
K1132.2310100 C SZHE 90° A=H AHQIP A AL 14 M10X1 - 55 11
K1132.2310150 C SZHh8 90° H=2H AHQIP A AL 14 M10X1,5 - 55 11
K1132.2318 C SZtHE 90° A2 AHQIBIA AR 14 R1/8 - 55 11
K1132.2314 C SZtHE 90° AU=2H AHQIF A AL 14 R1/4 - 6 14
K1132.1406100 D AFZHHES 45° A2 AE] 10,5 M6X1 - 55 9
K1132.1408100 D AZHHS 45° H2H AES 10,5 M8X1 - 55 9
K1132.1408125 D AZHHFS 45° A2 S AE] 10,5 M8X125 - 55 9
K1132.1410100 D ArZrHES 45° A2 AEl 1 M10X1 - 55 11
K1132.1418 D AZtHE 45° H2H AES 11 R1/8 - 55 11
K1132.1506100 E AZHHEFE 90° U= E AE] 14 M6X1 - 55 9
K1132.1508100 E AHZHHES 90° HZ AE 14 M8X1 - 55 9
K1132.1508125 E AHZHHES 90° U= E AE] 14 M8X125 - 55 9
K1132.1510100 E AHZHHEFE 90° U= E AE] 15 M10X1 - 55 11
K1132.1518 E AHZHHES 90° HZ AES 15 R1/8 - 55 11

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



